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ON DIRE

ON VOIR

ON ALLER

TU ETRE

TU AVOIR

TU LAVER

NOUS DIRE

TU METTRE

ON SAVOIR

ON FERMER
ELLES VOIR

ON PRENDRE
ON ENTENDRE
NOUS SAVOIR
NOUS DEVOIR
ELLES BOIRE
ELLES AVOIR
VOUS REMPLIR
ELLES PRENDRE
VOUS DEFENDRE
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Le Present du Subjonctif
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ON LIRE

TU FINIR

ON LAVER

ON JOUER

ON ETRE

ON OBEIR

TU PARTIR

ON DEVOIR
NOUS VOIR
NOUS ALLER
VOUS JOUER
NOUS AVOIR
ELLES VENIR
NOUS DANSER
ELLES ETRE
NOUS PARLER
ELLES DANSER
NOUS VOULOIR
ON CONNAITRE
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TU VOIR

JE AVOIR

ON FAIRE

ON AVOIR

ON BOIRE
VOUS VOIR

ON VENDRE

TU PARLER

TU VENDRE
VOUS AVOIR
ON COUTER
VOUS LAVER
ON ECOUTER
VOUS SAVOIR
ELLES ALLER
VOUS PARLER
ELLES FERMER
ELLES VALOIR
ELLES COUTER
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